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Answer all questions. Each question carries one mark. /"
R, I RYn YOIOR. T3 T[yJ 1 Lo 08, A4

ry

"~

1. A mixture of 150 L of wine and water contains 20% water. How much water
must be added to increase water percentage to 30% of new mixture ?
a) 12L b) 20 L c) 25L d) 10L
150 O¢. 3 oK) DeDR 0,205 Fevo 200, DT BR0OTST. VedT
T,35060 30% TR, BN GACI AN rai% AT, QT FeORWIO ?
a) 12 Oe. b) 20 ©e. c) 25 Oe. d) 10 &e.

is 24. If the present age of the

erage age of the family at the

s

b) 20 years =z

c) 28 years d) 30 years

0T TR, 0 BoE00WT FTHRO WOV 24. 3003 TS HIND == 8 ﬁaﬁrmhqnd.

300D VOIS BIVO FR0DTEA, FoLDOWT RTINO SR QT ?

a) 16 =HFND b) 20 SIFNO

c) 28 JAFNL d) 30 IHFNL

3. Ashok is 3 years elder than Balu who
Jaswanth is now 6 years old. What was

born ?
a) 20 b) 27 g 21 d) 25

9863 LIeON03 3 [HF ﬂm%&i& =B mﬁﬁos‘hos 4 T $HOODTI. mf&os‘ﬁ
g 6 Sar. BT aaag_jmri 9BREFT WO, R, ?

2. The average age of a family of five members
youngest member is 8 year, what was the av

time of birth of youngest member ?
a) 16 years

is now 4 times as old as Jaswanth.
Ashok’s age when Jaswanth was

a) 20 b) 27 )21 d) 25
4 Find the next number of the series. 196, 200, 209, 234, 283, 404, 573, _
a) 872 b) 840 c) 884 d) 862
g 000 Hoad bty T8 196, 200, 209, 234, 283, 404, 573,
a) 872 b) 840 c) 884 d) 862
SPACE FOR ROUGH WORK )
| 18y j‘“‘
MJ / I o,j (-'»al 3, ’J‘
3 762 ()
SIS 635 Iy (35 7Y fprgp L
;! 7 (0 Ava
E AR A S

]

1 R /1 /.
v (Q . i l’/a

~J
/
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NP - 500 4 {1l g
S. Find the next number of the series. 5, 10, 35, 160, 785,
a) 2010 b) 3910 c) 2525 d) 2860
T30 000 maiﬁabaigt O@3. 5, 10, 35, 160, 785,
a) 2010 b) 3910 c) 25625 d) 2860

6. "SPECIAL” is written as “65” in a certain code language what will “CONNECT
be coded as ?

a) 70 b) 64 c) 32 d) 74

"SPECIAL” &) 20rs 3pew® pRodd) “65” 20w w80b&snd “CONNECT
i 3RET* FORIBLEOD.

a) 70 b) 64 c) 32 d) 74

7. In certain code ‘FROZEN'’ is written as ‘OFAPSG’ then how would ‘MOLTEN'
be written in that code ?

a) OFPOMN b) OFSMPN c) OFUMPN d) OFUNPM
~OFS, 3ReE'IY, ‘FROZEN' &) ‘OFAPSG’ 201 w3chenhd. < 2rewzg
‘MOLTEN' 3 Seit 2280hoard3s 2

a) OFPOMN b) OFSMPN c) OFUMPN d) OFUNPM

Directions (8 to 9) : In each of the following questions, select the related word
| from the given altematives.

j NEerBINW (8 001 9) : NI T SadRcd S3NYY , AT TodnFobnsas
ROWSRAT TOTH, SoLIRA.

8. Taste : Tongue ::Walk : 7

a) Pavemnt b’ Cthh c) Legs d) Walkiﬂg
W TN . I&N: ?
a) =0 Inns b)) endhrizesn C) EORD d) —z2-r
3 SPACE FOR ROUGH WORK -
5. CfAL L i - -
e FRlcoEf eI T kL pvoPOK
} 1Lk, 53 20 Y WYYy 2
=t oo 2 3C AL
£ c N SCO, TEE Jln 70X -
0% ia 100 ; - "
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9. Book : Publishers :: Film : ?
a) Writer b) Editor
c) Director d) Producer
RT : TToTED 11 B, - ?
a) wosmd b) NO=RTT
C) QTeFT3 d) S[RFT

Directions (10 to 11) : Fill in the blanks :
QBerTIAD (10 0o 11) 1 V8 T DOV

10. SCD, TEF, UGH, , WKL.

a) CMN b) UJI c) VU
11. B2CD, BCD4, B5CD, BC6D.

a) B2C2D b) BC3D ¢) B2C3D

NP - 500

d) NT

d) BCD7

12. X take Rs. 50,000 loan from bank for 6 months at 10% interest rate. Find

amount to be repaid.

a) Rs. 52,500 b) Rs. 55,200 c¢) Rs. 2,500

d) Rs. 5,000

X 10% w8 BIT, 6 3oRYTA we,cs*Res dr. 50,000 ROST IRTIRCTT,

3 TRSTWeFT SRSHR), ?

a) dr. 52,500 b) dn. 55,200 c) dr. 2,500
e in a ratio of 1 : 3: 5 and time ratio

is 6 - 3 - 1. Total profit is Rs. 10,800 then profit share of E, F and G are
b) Rs. 3240, Rs. 4860, Rs. 2700

d) Rs. 2700, Rs. 3240, Rs. 4860

13. In a partnership investment E,Fand Gar

a) Rs. 3240, Rs. 2700, Rs. 4860
c) Rs. 4860, Rs. 3240, Rs. 2700

d) 3». 5,000

% G 1:3:5 3 EHTITYHIT I IV

Toenm0d araichd E, F =023
s 6 : 3: 1 ShG. u%mz,ﬁdra.

10,800 SAGS E, F 0 G ob 233

oD
a) dr. 3240, dr. 2700, gn. 4860 b) dr. 3240, To. 4860, 3. 2700
¢) d. 4860, Te. 3240, On. 2700 d) dn. 2700, 3. 3240, . 4860
(XS SPACE FOR ROUGH WORK % -
Aaxd Y C S b : .:
DR ity "‘E""‘”-_-i-;: L5 &5 ¢
l‘m’*;jm _*_';. 3 ;J 13-'.';;-..’( 9 {"‘S.j.; ‘!};?
E ‘g lf ) S' e :_? | \Wr.'
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15.

16.

17.
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Investment of P, Q and R are in the ratio of 1: 2 : 3for 4 mor_‘nths_-;._s months ang
6 months respectively and total profit is Rs. 56,000 then individual share of
P:Q:Ris

a)2:5:9 b) 4:5:9 c)4:10:6 d) 2:10:9
P, Q 3 R 3 @eadodn 3=aon 4 Soried, 5 Sonsd =2 6 Sorier1:2: 3
SRTRITITIT o) 2,83 &ord de. 56,000 sNGT P : Q 1 R & et mdx
SRS 7

a)2:5:9 b) 4:5:9 c) 4:10:6 d) 2:10:9

A boat takes 48 min to.cover 12 km against the stream, if the speed of stream
IS 2 km/hr then what will be the speed of the boat in still water ?

a) 12 km/hr b) 15 km/hr c) 17 km/hr d) 20 km/hr
DB am% 12 3. Qoe. 3 Q0"en Zress 48 amﬁﬂeﬁﬁa e”ﬁ&‘iﬂﬁd. X,
=Ny 2 8. €. /no. E:?ﬁ%tf, wu@ VORI Teesdadd Sen aa*% ?

a) 12 3. Qoe./no. b) 15 3. Qoe./no. c) 17 8. Qoe./mo. d) 20 3. 8. [i:

A boat covers a distance of 12 km in 1 hour upstream and in 45 minutes
downstream. Find the speed of the boat and the stream.

a) 14 km/hr, 2 km/hr b) 25 km/hr, 4 km/hr
c) 15 km/hr, 4 km/hr d) 5 km/hr, 2 km/hr
2000 Brersad 12 8. Qoe. mamgt 1 not3aDd) = aT amq;mh A

45 QTN T, oz Q3RQ, 70T, Brerd D) TmEs SenSH)
TOROLBOWD.

a) 14 3. Qoe./ro., 2 3. Qe./no. b) 25 8. Qe./no., 4 3. Qoe. /0.
c) 15 &. Qoe./no., 4 8. €. /N0, d) 5 8. Qoe./no., 2 8. 20¢. /no.

A box contains 8 red balls, 6 green balls and 8 blue balls. A ball is drawn at
random. What is the probability that the ball drawn is neither red or green ?

a) 10/29 b) 2/11 c) 11/4 d) 4/11
2000 s 3riod 8 Fog) 230monsh, 6 BATD oA Iy 8 QO z&omﬁ@@t

-

BRODTLIT. o) 00RE 238N SRoLUMBE. 3rodns 230 0% L9330
PATD BT ToP=Veod3 QT ?

a) 10/29 b) 2/11 c) 11/4 d) 4/11

SPACE FOR ROUGH WORK
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18. From a group of 7 men and 6 women, five perso
a committee so that atleast 3 men are there on
ways can it be done ?

a) 564 b) 645 c) 735
7 QYOS T 6 Fo&PaDT RI0LNOT, FSODY, TV
RS0, B3R 0T & §NYR) S[ewy] IRELIR. BTJY, AT, 0e30308.

ns are to be selected to form
the committee. In how many

d) 756
%3 TR Q00T

RRBUIBOT ?
a) 564 b) 645 c) 735 d) 756

19. The CP of desk is Rs. 2,000. A salesman wants to make 15% profit by
selling it. At the time of sale he declares a discount_{of 10% on M.P.
Then marked price is e
a) ¥2,552 b) ¥ 2,554 c) ¥ 2,556 d) 2,550
222Ny Do I3 ae. 2,000. SNTLMITI LTI SPTL IREIT ROT

3e3 Do

15% ©opJssy NYRNED LODRITIS. FRTLT FROODTEL, T VRTWT
10% O, Do3RO0S0IRY DreaRT0. TMWTT [RTT 23S 2D ?

a) 2,552 b) ¥ 2,554 c) ¥ 2,556 d) ¥ 2,550
20. A shopkeeper sells his goods at 10% profit. If he sells it at 20% profit, he get

Rs. 120 more. Find the CP.

a) 1,000 b) ¥ 1,020 c) 1,100 d) ¥ 1,200

ey, S0N@oREIO 3, Zosonsy 10% et SRTT]S. BT ST FODNII
Je. 20 Om), TOLY SI0TT T, 120 T, AMOIT. SRV 3IodRY, FomHAAND.
a) ¥ 1,000 b) ¥ 1,020 c) ¥ 1,100 d) ¥ 1,200

21. 4 boys and 3 girls spent % 120 on the average, of which the boys spent T 150
on the average. Then the average amount spent by the girls Is

a) % 80 b) ¥ 60 ¢) T 90 d) T 100

4 Bororid 2 3 EENE FoRET 120 DedoF SRATD, STUY, TRNID IFT0

o SHAEG. F030 TRND EDF FRET FTO 303 o), ?
b) % 60 c) T90 d) T 100

SPACE FOR ROUGH WORK

L3 ;‘J"':f"m 5 q 3013,

/!

F¥é S Lol

TN MEILL
? 19 9o ol
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22. A man walk towards north. First he turns is 45° clockwise then he turns gg°

23.

24.

25.

anticlockwise. At last he turns 135° clockwise. Now his face on which side ?
a) North b) East c) West d) South

W), SOROT R 00303 3B B30T, BT BB 45° RBOIRCT Q3N Sy
Edoéd ORI 90° RBCRTT 0T, 07t 8Tz, ERIN B 135° ﬁﬁ&mdc: X
STOTOZE. B1nt 9T 0D 03NI 5-'?:3 ‘atﬁ‘ ?

a) Y30 b) ZpIF C) WY d) T3

Rohan’s schools’ bus face was in north when it reached in school. After
started from bus stand it was turn two times to the right, one time in left ang

then reached at school. In which direction was the face of bus when it was
on bus stand ?

a) West b) East c) North d) South
T BLOATON BRCBIT'T T303) ¥ 0D PZTTYR). WA AR EIDOT

39,0023 T03T 23D 2390 ue.aﬁ 2,00 2390 azﬁ S0ON J03T meﬁ 3L,
PN D £330 2, WAV 0D 035 &&3633:) ?

a) w&z:b b) Zp=F C) &3 d) T3

How many numbers of 3 digit can be formed using 1, 2, 3, 4 and 5 when
repetition of digits is not allowed ?

a) 60 b) 50 c) 125 d) 120
1,2,3,4 30305 @53 WFRBRORD 308NY YISO =g 3 e30803) DT
""0:‘-13 ﬁ“u"cﬁ) UZSH&J&.‘JCSD ?

a) 60 b) 50 c) 125 d) 120

Price of 2 pencils, 3 erasers and 4 Pens is Rs. 15 and for 3 pencils, 2 erasers

and 1 pen is Rs. 10. But | brought 3 pencils, 3 erasers and 3 pens at Rs. 15,
then what is the price of an eraser ?

a) Rs. 3 b) Rs. 4 C) Rs. 2
2 aﬁaef 3 0exoT* = 4 wabﬂe: 238 15 on. D) 3 aﬁa)t:‘

1 ﬁ‘c‘oﬁ 10 . &8 o 3 ﬁw 3 QTR 0D 3 w&mﬂm 15
mmdﬂ 20T DTERT® 2363 e::a;b ? :

d) Rs. 1
2 QTeRT*' D)
0R. 1} 3oQTH.

a) odn. 3 b) dra,4 C) Sr. 2 d) de. 1
\ @ SPACE FOR ROUGH WORK |5 , i S -
Gefx3 125 X
1347 3 3 3 =3
) S
s W

A2
=
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26. A and B are mamed couple. X and Y are brothers. X is the brother of A.
Howis Y related to B ?
a) Brotherindaw  b) Brother ¢) Sondndaw  d) Cousin
A T B DiRGLT ToIITD. X DR Y I[eTTR. X DA T IEREKL Y 2B 3
ST 0T DR
a) =S b) IZae3T ¢) VD d) SRR WY
27. Pointing 1o a lady in the photograph, Shaloo said “Her son's father is the
son-in~aw of my mother”. How is Shaloo related to the lady ?
a) Aunt b) Sister ¢) Cousin d) Mother
FROIRII TIYDT £:2) THHTDT; IRV, TUR BETO S W I 87
TR BEAD”, TR TR B TRRFI R 9
a) Wy b) IVBAR ¢) JVRLTT TRNY  d) ]
28. In a class consisting of 50 students. A ranked 12" from the top and his
friend B ranked 26™ from the bottom. How many students ranked between A
andB ?
a) 13 b) 12 c) 25 d) 38
50 DR, QIR JATRNA ITNIAY, A 10T 12 [k Sxe:m;m N
ST 3003 B HIR0T 26 Ve {II TAT/R. A XX B TR QN JT®, QFNWS
AN TIXRT ?
a) 13 b) 12 ¢) 25 d) 38
29. If you are the 25" parson in & queus from one end and 36" from the other
and. What is the total number of parsons in the queue ?
a) 60 b) 63 ¢) 65 d) 66
2R LR LNAET TTD HOFQ 257 T R RA I WRNER R
I IARNTT, TV TOIQOR A Jdnw T W ?
ﬂ; JGO ) b) 63 ¢) 05 d) 66

SPACE FOR ROUGH WORK

‘a.-* | b .,q.} " 1”\‘. }JL‘
N\ f‘b—m'}y 1 f ) S0 o me
N ‘ *i\\,*,.*
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30. The speed of a car increase by 2 km after every one hour. If the dist,,,

travelling in the first one hour was 35 km. What was the total distance tray,
in 12 hours ? |

a) 522 km b) 600 km c) 500 km d) 552

T3 2,080 Rotiod F03T 50 Sensy 2 8. Qoe. BRTDIT. WATY L.OTS risiiy
S5, 00RER0T Bd 35 8. Qoe. SAGT, 12 rot3ndd, o, BRAD Wil TAT .32

a) 522 3. Qoe. b) 600 8. 2oe. c) 500 &. ¢ d) 5522, 4

31. Raju travelled from A to B with a speed of 15 m/s and reached B in 11, },

find the distance travelled by him in km.

a) 81 km b) 54 km c) 85 km d) 60 km

OO A Q0T B 7 15 m/s Sentsd) ,cdnedanicd S 1% rotinwd) B 72:: ~
ST T cdReIG BRT[RY 3. e, T, ForBBOWD.

a) 81 3. Qe. b) 54 3. Qoe. c) 85 3. e. d) 60 3.

'J" :lﬁll'.l

32. 15 taps can fill a tank in 36 minutes. How many taps will be required to fill i

tank in one hour ?

a) 20 b) 9 c) 8 d) 10

15 39N 36 NEDRNTE, £59,05° ), ZI0WWEIT). 2,080 TosIoDE 73,05 ooe-
IR, QMY 613 3 2 itk

a) 20 b) 9 c) 8 d) 10

33. P can fill a tank in 5 hours. Q can fill the Same tank in 10 hours. R can emp:

the same tank in 20 hours. How much time will all the three take together !
fill the tank ?
a) 5 hrs. b) 6 hrs. ¢) 3 hrs.

d) 4 hrs.
PS5 roindd, um,. o5* B, DOVTWTW. Q este ;08" &) 10 rovinys

SVOVITWROW. R 93¢ 639,05°%), 20 NMotdnvd) and In@ED. =scs #-)
k39, 080, 02w Q) FZO0D 3ﬁmﬁ@ﬁ%3d ?

8) S ot b) 6 riotdrish c) 3 Rotdnisd d) 4 rcuin
g | K& 7 3k SPACE FOR ROUGH WORK |, : T
L ‘_L,"q (.< i ) y
i “) ) ‘ ":].— / i. )
E <N g = {70 16 373
“S (m =52
b.'.l ¥ tfﬂi/b 55’ 4y é
A ! 1 EZ';J ’
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34. Two variety of rice at Rs. 10/kg and Rs. 12/kg are mixed in 1: 2. Find average
price of mixture.

a) 12.1/kg b) 15/kg
c) 11/kg d) 11.33/kg

dR. 10/8. 2. 8) Be. 12/3. 2. A0 A Ee 1 : 2 09, BTRRHIT.
Q8,698 ATDRO BWSaNR), FoRELBOWD.

a) 12.1/3. 2. b) 15/3. 23
c) 11/3. . d) 11.33/3. .

35. The average of 8 numbers is 27. If each of the numbers IS multiplied by 8,
find the average of new set of numbers.

a) 1128 b) 938

c) 316 d) 216

8 ,-qoeﬂ ne XooRD 27. &,803008 B3, NTS) 8 907 TOBATET, WIS BRI R0, ne
rumru@@ﬁ% FOTRBI&BOND.

a) 1128 b) 938

c) 316 d) 216

36. In an examination 30% of the total students failed in Hindi, 45% failed in
English and 20% failed in both the subjects. Find the percentage of those

who passed in both subjects.
a) 35.7% b) 35%

c) 40% d) 45%
wﬁfﬁfﬁ)@ 2t W9 @rmf 3,8 30% %000 , 45% oD I, [ 20% Q0BR
&mo:bmf@ t;aaiaé mr::rahmzj QOER DVODNTES, LV3eLOFTIT 0TI &rﬁ# Je8To

e:)e.%‘?

o
a) 35.7% b) 35 :’
c) 40% d) 45%
SPACE FOR ROUGH WORK

:? ) ;.. 4o +63 +20

E 10 4 2% ta wlo S

34 95 = &0 228

5 g

o I 4
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Directions (37 ,

to 39): I d
questiong ( ) : Study the data given below and answer the fojjq
“:W&l-Monarch-Hegal" IS written as @#*
y eg"’""'-9‘51ﬂc}f-(?aﬂrlc:l”' is written as *%?
“:flpe-Gold-Life" IS written as ¥7$
adegal"Mﬁnarch-Mnrals“ IS written as *#V

*FBRRW (37 00w 39) : 39K Degens .,
T3 cugon - ) TR0 TR0, BR00T FRB 202 S
..:ﬁv‘mmﬁ‘ﬁ&mv‘" aaig{ @#* 2030 WEDNT

~Oh-Roeet” B3 *%? 20 eI

" Bren- —e3 f""
o g_ Qg;% QF R 12§ 2ot wiabednds
F“ﬁEEUUL SR, *#Y 208 WG

37. What will be the code for Regal ?

ang

a) % b) *
c) $
OtNOR Ener® DTNTZT 9 o
a) % b) *
3 ) | b) c) $ d) # 100
8. What will be the code for “Gold Legacy” ?
.'a:) #v b) %it C) 7% d) ?*
riraec:; Srix" N 3rea’ OTNGZE ? |
a) #v b) %# c) 2% d) "
39. Which word is coded as #?
a) Morals b) Life
c) Regal |
CIRE ITIR), # o) Bpess BRTBINS 9 : o o
a) Jpede* b) g C) Oerer d) Se=F

40. E can complete the work in 30 days. F ca

a) 15 days b) 90 days
C) 60 days 30 days
E 30 ﬁdmﬂd}_‘ svﬁdﬁi mmfﬁﬁgﬁwgﬁl F 15 aﬁﬂeuiy@ oy = d).iﬁﬁaaﬁj;;_
otnon E, F &3 G wiif 3o s i
) 2 i1 893 2T 9 BFNYY Fomgmy Tomriseis
G S0, BOITY ST, OINYY Terorrtngogy 0 3 %
I T — b) 90 Qs c) 60 B d) 30 67

SPACE FOR ROUGH WORK

Aot Por P sl«fﬁg/- |
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41. :
jﬁr’-::dl Bt working to_gether can complete the work in 20 days and B alone can
: plete the work in 25 days then days taken A can complete the work alone

In days.
a) 50 b) 75 c) 100 d) 125
A 2 B 2otdfi 20t BORER) 20 OIRYE, prarrevrdatd w3 B =3, o BOTDD,
25 QINTD TRedrRRYATE, A ©tde FOITI QINYY E;fjsmrﬂraémﬁab.
a) 50 b) 75 ) c) 100 i d) 125
42. HCF of 0.144 and 1.8 is ____ .
a) 0.072 b) 3.6 c) 7.2 d) 36
0.144 3 1.80 . . 8.
a) 0.072 b) 3.6 c) 7.2 d) 36
43. Least common factorof 188and52is _______
a) 2 b) O c) 4 d) 6
188 =030 52 T ©. %o, .
a) 2 b) O c) 4 d) 6

44. Rajesh repaid his loan of Rs. 1,00,000, he paid simple interest of Rs. 15,000
at rate of 3% for how many years he borrowed money ?
a) 2 years b) 3 years c) 5 years d) 6 years
corder® Bp. 15,000 waodeodn Begwmo 3 O F0¢ R O0Z VT Wi, BT
gn. 1,00,000 SOC0TREEATT T, SHFnon S T, VBT ?
a) 2 ITIFNO b) 3 JJFNEO c) 5 ITJFNL d) 6 SIHFNO

Directions (45 to 46) : The following sentence has been split into four segments.
Identify the segment that contains a grammatical error. If you don't find any error,

mark ‘No error’ as your answer.
45. He used to reply/that the only place/for which he went/was the town library.

a) was the town library b) for which he went
c) He used to reply d) that the only place
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46. Amla juiceis rich withAvitamin C/No error.

a) vitamin C b) Amla juice ¢) No error q) 18 rich with
47. Select the most appropriate synonym of the given word.

“Announce”

a) Denounce b) Secret c) Hide d) Advertise
48. Select the most appropriate antonym of the given word.

"Rebellion”

a) Uprising b) Loyalty ¢) Sedition d) Allotment

Directions (49 to S0) : Fill in the blanks with the suitable preposition .
49. He travelled all the world when he was eighty years old.

a) in b) over ¢) with d) of
50. Don't depend others : you must stand on your own feet.
a) upon b) on c) to d) for

S51. Select the option that can be used as a one word substitute for the underlined
group of words.

The man supervising the exam had a huge moustache.

a) Examiner b) Curator c) Controller d) Invigilator

52. In the given sentence the underlined word may have been Incorrectly spelt,

Identify the option that rectifies the spelling. If there is no error In spelling,
select ‘No error'.

Getting a compliment from her husband was a rare gccurrance in
Rashmila’s life.

a) Occurrence b) Ocurrance c) No error

d) Ocurance

Directions (53 to 54) : Choose an appropriate word from the options to aultably

fill the blank in the sentence below so that the sentence makes sensa, both
grammatically and contextually.

83. | reading for two hours before going to school tomorrow,
a) willhave been  b) had been c) will be d) am
54. They learning a new language next semaester,
a) will b) will have c) will be d) will have been
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55, Select the corract pasaalve form of the glven aenlence
Manu will tell her laler.

a) She wlll be tell later by Manu, h) e will tell later by Mant

c) She will be tald later by Manu, d) Bhe will be tall later

56, Select the correct aative [orm of the given asnlenas,
Haa the vllla been ocoupled by them ?

a) Did they occupled the vllia h) Had they tmmmlg{l e Tllllﬂ ¢
c) Have they occupled the villa ? d) Do they oaoupled the VIlla.

Directlons (587 to 58) : Choose the correct meaning of the given Icllom,

57. Bag and baggage
a) with burden h) withou! any alm

¢) without happineas d) with all ot one's NOBEERAIONE

58, Beat around the buah.
a) Avold pralaing aomeone and cdemean,
b) Avold the main point by talking In & round aboul way, .
c) Avold saying what you mean, uaually hecauge [l 18 not fnny
d) Avold using foul worda to make aomeons uneomfortable.

Directlons (59 to 60) : Select the correol direot form of the given aentancs
59, Shyam asked me how | had perauaded hie alaler,

a) “How are you perauading my alaler ?" 8hyam askec me.

b) “How did you perauaded my alaler 7" Bhyam asked me,

¢) “How did you persuade my alster 7" 8hyam asked me.

d) “How have you persuace my alater 7"

60. Latlka sald to him “I got a hefty digcount on lhig leleviglon",
a) Latlka told him that she has gol a helly diseount on that television,

b) Latlka told him that she I8 getting & hefty digaount on that lelavialon,

c) Latlka told him that ehe had gol & hefly digoount on thatl lalavisiorn
d) Lalita told him that she hae gol & hefly disoount on that lelevision,
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